Solid Edge Tips CAD Central Ltd Rev. 8/11/2018

Standard Part Variations

This Tech Tip looks at how to use existing parts that are in the standard parts library to make copies, but vary
from the original in small ways, such as material.

The standard parts database is delivered with a small set of pre-configured parts to use and this can be expanded
with the add-on Machinery Library (included as part of the Classic and Premium licences) and Piping Library. The

parts library can be used to place bolts, nuts, washers, etc as individual parts or as a fastener stack.

See our previous article on how to install and set up the parts library - http://www.cadcentral.co.nz/setting-up-

the-standard-parts-database/

To further enhance the library, it is possible to add your own parts, Or g s eage standard barts Administrator (Standardparts21¢]

to add variations of existing items in the library which, for example, = Detsbese  Category  Rat  Seftings  Logging  Help

. . | 8= & B
may have a different material. L | —
[-B5 Addpars o ~ Part name
BISO E Hexagon h
1 M E Bolt / Screw
Start by opening the (Solid Edge Standard Parts) Administrator from oSt %:mgw:
. . . E-ngagon head bolt f screw
the Solid Edge group in the windows start menu. Once open, select ) Hexagon head balt 2] Hexagon h
i [=-Product grades A and B % Hexagon h
" " - 4014 Hexagon h
the Add Parts bUtton : --Hexagonhaadsa’ew BHexaganh
Add Standard Parts — P

Select the "Add new user part file(s) (Family of Parts,

(O Add from the Standard Parts Installation Database (recommended)

XLS Tables, extending existing parts)” option and click
Next.

‘arts\Standard parts\3D-Standard_Parts_V16.00\Parent_Parts\Machinerylibrary_EM_V16_00.ddb | .

CADCENTRAL\SQLEXPRESS [StandardParts219]

(®) Add new user part file(s) (Family of Parts, XLS Tables, extending existing parts)

(71 Bdd fram evietinn cinale nart file

[@J Add New Standard Parts
For the next step, click "Add from existing parts by extending sp 1: specfy the method for acding user parts
characteristics and Properties” and click Next. O add from Famiy Part Master
(O Add from active Microsoft Excel worksheet
() Add from manual data entry

(®) Add from existing parts by extending characteristics and properties

Add New Standard Parts
Open the category that you would like to copy and select the | step2: selctsource category and parts

L. . [#-B5 Part name
parts within the category. Click Next. 2150 Hexagon head bolt IS0 4014 - M12:50
E-Balt / Saew Hexagon head bolt 150 4014 - M12x65

Hexagon head bolt IS0 4014 - M10x55
Hexagon head bolt IS0 4014 - M12%70
Hexagon head bolt IS0 4014 - M10x50

| [=-Steel
B- Hexagon head bolt [ scr
[)-Hexagon head bolt

| E-Product grades |

i L.1S0 4014 Hexagon head bolt IS0 4014 - M12x60
i -- Hexagon he%aeu Hexagon head bolt IS0 4014 - M6x30
-- Nut Hexagon head bolt IS0 4014 - Max60
[l-Pin Hexagon head bolt 1S0 4014 - M6x40

b




Solid Edge Tips CAD Central Ltd

For this example, we will copy the Steel Hex Head bolts and
create a Brass equivalent. To start with, click on the “ISO”, “Bolt
Screw” header (as shown) and then click the “Add new category”

button. Enter “Brass” as the new category.

- Steel
- Hexagon head bolt / <
[=)-Hexagon head bo
[=-Product grade
i 150 4014
[#-Hexagon head sa

=N

Before the parts can be copied, you need to change something to ‘@ﬁ
differentiate this from the originals. Click the “Add Characteristic” button
and a new blank characteristic is added to the properties list. Click the drop-down

option for the characteristic and choose “Material (Text)" from the list.

Enter the word “Brass” in the variable field. Click Next.

Rev. 8/11/2018

Add New Standard Parts

Step 3: Select new category and extending characteristics

Properties

~ MName
Mominal length

: THR_dia
= H:E:(agnn head balt [ = Thread
[=-Hexagon head ba
I Accuracy

Properties

Add characteristic Name

Characteristic 6
Nominal length L\\:
THR_dia

Name

In this case, we will only have the one option, but you can choose to have it as a selection from the list. In the

Pre-defined values list, Enter Brass as the Material and B as the Norm Code. Click Next.

Click Next for Step 5, 6 and 7, as we do not need to make any alterations.

The final stage will generate the parts. Click Finish to complete.



